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SECTION - A 10 = 2 = 20
VERY SHORT ANSWER TYPE QUESTIONS
Attempt ALL questions. Each question carries 2 marks,

Ix" +3 +2ex + 2 — 12=0 is a circle with centre (2, 3), find g,/ and radius of
the circle.

Find the eguation of the sphere whose centre is (2, — 3, 4) and radius is 5.
Find the coordinates of the point on the parabola y* = 2x whose focal distance is 5/2.

if e, e, are the eccentricities of two conjugate hyperbolas then show that
s
ef+er=¢ e

Find the nth derivative of y = x° cos 2x.

Evaluate J cos’ x sin x dx.

Evaluate J log x dx.
t P
Evalu:jlej P
i ] abepg™
Find the arca cut off between y =10,y = ¥ 4% 3,

Find the order of the differential equation of the family of all circles with their
centres at the origin.

SECTION -B 5 x 4 =20

SHORT ANSWER TYPE QUESTIONS
Attempt any 5 questions. Each question carries 4 marks,

Find the equation of the circle passing through the points (4, 1), (6, 5) and having
the centre on the line 4x + y — 16 =0.

Find the equation of the ellipse whose focus is (1, — 1), eccentricity is 2/3 and
dircetrix isx+y+2=0.
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Show that the length of the latus rectum of the hyperbola ﬂ# = 11is
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If PSQ is a focal chord of a conic whose focus is S and the length of the semilatus
reclum 15 { then show that S{P + ;@ = %
Evaluate J- ﬁ dx.
Solve (" + D vy +(y+ 1) dx =0,
Solve (x + 2}!3) g{ =y,
SECTION-C 5% 7= 35

LONG ANSWER TYPE QUESTIONS
Attempt any 5 questions, Each question carries 7 marks.

Find the equation of the circle which has a radius V13 and tangent as the line
=3y ¥ l=0at(l. 1)

Find the equation of the circle which cuts orthogonally the three circles

'x2+y1+gl-+1?y+4-_u,f+y2+'}'x+ﬁy+]1 =0,¥ +y —x+22y+3=0.

Show that the locus of the poles of tangents of the parabola y* = 4ax with respect to
the parabola y' = 4bx is @y” = 45 x,

[fx=cost y=sinpt then prove that (1 -x)y, ,—(2n+ Dxy, ., - (" =)y, =0.
Evaluate 9 fms - S dx.
dsinx+5cosx

7’2

. | B
Ewvaluate J H

) SILX + cos X ;
Using Trapezoidal rule to approximate the integral, _f VI +x" dx withn = 10.
i



